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7 38RF I A 228 6 5 0 O 545 641/3 284 71 1 42 14 6 4 0 273 457 2.18
2 MK E C 257 7 5 0 0 583 651/3 329 66 1 50 43 14 15 0 244 536 6.11
3 815#HE E— D 271 8 2 1 0 800 642/3 303 77 3 28 16 2 3 1 273 303 1.95
4 595FE §& B 308 6 4 0 0 .600 66 354 61 2 44 68 19 22 1 231 467 9.23
5 83FHE £ E 441 3 5 0 0 375 472/3 247 72 5 10 15 9 10 O 329 147 352
6 89EH FME F 525 3 5 0 0 .375 60 315 77 4 19 31 18 6 0 295 222 572
10lE+f 2% E 000 2 0 0 0 0 - 21/3 13 3 0 1 2 0 0 O .300 3.00 6.00
648958 &2 B 000 2 0 0 0 O - 2 11 2 0 1 1 0 1 1 222 350 3.50
7383k ®BH C 000 1 O O O O - 1 6 2 0 0 1 0 0 O 400 0.00 7.00
21%5H F#H F 000 1 0 0 0 0 - 1/3 4 1 0 0 1 1 0 0 500 0.00 42.00
48TFBiZ %% E 233 2 0 1 0 0 .000 6 33 5 0 3 10 1 6 0 238 350 12.83
46%EH # B 275 7 3 0 O 0 1000 201/3 95 17 0 2 12 0 1 2 205 069 4.13
900%E H%E E 277 8 2 1 0 0 667 172/3 97 14 2 10 11 5 4 0 175 396 6.34
MW EZ D 452 6 3 0 0 0 1000 212/3 110 30 1 12 12 2 1 0 313 388 452
8BARH £8B Cc 525 9 0 2 0 0 000 222/3 127 33 3 18 13 8 4 0 314 556 6.49
1488 #%— F 585 13 0 5 2 0 000 261/3 153 37 1 9 20 6 4 1 296 2.39 6.91
53%&H FIE E 635 10 0 2 0 O 000 141/3 87 17 0O 10 12 5 5 2 243 488 8.30
182EH —H| Cc 700 1 0 0 0 O - 1 6 1 0 0 1 1 0 O 250 0.00 14.00
2088 H{E A 78 10 0 2 0 0 000 262/3 172 36 1 20 40 10 4 O 303 525 13.13
3mH* £3x D 933 2 0 1 0 0 000 6 33 6 0 5 8 1 2 0 250 5.83 10.50
24/NEE ¥EA B 1050 2 0 0 0 O - 22/3 19 3 1 1 8 0 2 0 273 263 21.00
o4t BE%S F 2800 2 0O 1 0O O .000 2 19 4 0 2 8 2 0 0 444 700 35.00
16/ENKER F 6300 1 0 0 0 0O - 1/3 5 2 0 1 2 0 00 667 21.00 42.00
527 F—EB E 7350 1 0 0 0 0O - 2/3 9 4 0 0 5 0 20 1,000 0.00 52.50
Total 411 42 41 41 3 0 .500 542 2831 641 25 288 354 110 96 8 274 372 599
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